

$$6. \textcircled{a} |2x-3| = x-1$$

$$\text{при } x-1 \geq 0$$

$$2x-3 = x-1$$

$$\boxed{x=2} \checkmark$$

$$\text{и } 2x-3 = -x+1$$

$$3x = 4$$

$$\boxed{x = \frac{4}{3}}$$

$$\textcircled{b} |x-2| = 2x-3$$

$$\text{при } 2x-3 \geq 0$$

$$x-2 = 2x-3$$

$$\boxed{1=x}$$

или

$$x-2 = 3-2x$$

$$3x = 5$$

$$\boxed{x = \frac{5}{3}} \checkmark$$

7. (01) $|x-2| - |3-x| = 1-x$

| | | | |
|-----|---|---|---|
| x | | 2 | 3 |
| x-2 | - | 0 | + |
| 3-x | + | + | 0 |

1. Av $x < 2$ wzc

$$|x-2|^{\ominus} - |3-x|^{\oplus} = 1-x$$

$$-x+2 - (3-x) = 1-x$$

$$-x+2-3+x = 1-x$$

$$-1 = 1-x$$

$$\boxed{x=2}$$

3. Av $x > 3$ wzc

$$|x-2|^{\oplus} - |3-x|^{\ominus} = 1-x$$

$$x-2 - (-3+x) = 1-x$$

$$x-2+3-x = 1-x$$

$$1 = 1-x$$

$$\boxed{x=0}$$

2. Av $2 \leq x \leq 3$ wzc

$$|x-2|^{\oplus} - |3-x|^{\oplus} = 1-x$$

$$x-2 - 3+x = 1-x$$

$$2x-5 = 1-x$$

$$\boxed{x=2}$$



$$7. \textcircled{y} \quad |2x+5| - |x+1| = -3x$$

| | | |
|------|----------------|-------|
| x | $-\frac{5}{2}$ | -1 |
| 2x+5 | - ⊕ + | + |
| x+1 | - | - ⊕ + |

$$\bullet 2x+5=0$$

$$2x = -5$$

$$x = -\frac{5}{2}$$

$$1. \text{ Av } x < -\frac{5}{2} \text{ wzc}$$

$$|2x+5| - |x+1| = -3x$$

$$-2x-5 - (-x-1) = -3x$$

$$-2x-5+x+1 = -3x$$

$$-x-4 = -3x$$

$$3x-x = 4$$

$$2x = 4$$

$$\boxed{x=2}$$

$$3. \text{ Av } x > -1 \text{ wzc}$$

$$|2x+5| - |x+1| = -3x$$

$$2x+5 - x-1 = -3x$$

$$3x+3x = -4$$

$$6x = -4$$

$$x = -\frac{2}{3}$$

$$2. \text{ Av } -\frac{5}{2} < x < -1 \text{ wzc}$$

$$|2x+5| - |x+1| = -3x$$

$$2x+5 - (-x-1) = -3x$$

$$2x+5+x+1 = -3x$$

$$3x+6 = -3x$$

$$6x = 6$$

$$\cancel{x=1}$$

$$8. \text{ (a) } |x-L| = x-L.$$

$$\text{при } x-L \geq 0 \Rightarrow \underline{\underline{x \geq L}}$$

$$\text{(b) } |2x-L| = L-2x$$

$$2x-L \leq 0$$

$$2x \leq L$$

$$x \leq \frac{L}{2}$$

$$10. \text{ (a) } |x^2+L| + |x+L| = x^2+2$$

$$\cancel{x^2+L} + \cancel{|x+L|} = \cancel{x^2+2}$$

$$|x| = 0$$

$$x = 0$$

$$\text{(b) } |x^2-2x+L| = x(x-L)$$

$$|(x-1)^2| = x(x-1)$$

$$(x-1)^2 - x(x-1) = 0$$

$$(x-1)(x-1-x) = 0$$

$$-(x-1) = 0$$

$$x = 1$$

$$11. \text{ (a) } | |x| - 3 | = 4$$

$$|x| - 3 = 4$$

$$|x| = 7$$

$$x = 7 \quad x = -7$$

$$\vee \quad |x| - 3 = -4$$

$$|x| = -1$$

Advaras!

$$\text{(b) } | |x-2| - 5 | = 2$$

$$|x-2| - 5 = 2$$

$$|x-2| = 7$$

$$x-2 = 7 \quad \vee \quad x-2 = -7$$

$$x = 9$$

$$x = -5$$

$$\vee \quad |x-2| - 5 = -2$$

$$|x-2| = 3$$

$$x-2 = 3$$

$$x = 5$$

$$\vee \quad x-2 = -3$$

$$x = -1$$

$$\textcircled{\epsilon} \left| \left| |x| + L - 2 \right| \right| = \epsilon$$

$$\left| |x| + L - 2 \right| = 1$$

$$\left| |x| - 1 \right| = \epsilon$$

$$|x| - 1 = 1$$

$$|x| = 2$$

$$\textcircled{x=2}$$

$$\textcircled{x=-2}$$

$$\vee \quad |x| - 1 = -1$$

$$|x| = 0$$

$$\textcircled{x=0}$$

$$12. \textcircled{a} \left| \frac{2-x}{x+2} \right| = 3$$

$$\frac{|2-x|}{|x+2|} = 3 \Rightarrow |2-x| = 3|x+2|$$

$$2-x = 3(x+2)$$

$$2-x = 3x+6$$

$$-4 = 4x$$

$$\textcircled{x = -1}$$

$$\text{or } 2-x = -3(x+2)$$

$$2-x = -3x-6$$

$$3x-x = -2-6$$

$$2x = -8$$

$$\textcircled{x = -4}$$

$$13. \textcircled{a} |x-1| |x-2| - |x-2| = 0$$

$$|x-2| (|x-1| - 1) = 0$$

$$|x-2| = 0$$

$$\textcircled{x = 2}$$

$$\text{or } |x-1| - 1 = 0$$

$$|x-1| = 1$$

$$x-1 = 1$$

$$\textcircled{x = 2}$$

$$\text{or } x-1 = -1$$

$$\textcircled{x = 0}$$

$$8) |x-1| \cdot |x+1| = 3$$

$$|(x-1)(x+1)| = 3$$

$$x^2 - 1 = 3$$

$$\vee \quad x^2 - 1 = -3$$

$$x^2 = 4$$

$$x^2 = -2$$

$$x = 2$$

$$x = -2$$

Admissibel.

$$14. a) x^2 - 2\sqrt{x^2} = 0$$

$$x^2 - 2|x| = 0$$

$$|x|^2 - 2|x| = 0$$

$$|x|(|x| - 2) = 0$$

$$|x| = 0 \quad \vee \quad |x| - 2 = 0$$

$$x = 0$$

$$|x| = 2$$

$$x = 2$$

$$\vee \quad x = -2$$

$$(1) |x|^3 - 5x^2 = 0$$

$$|x|^3 - 5|x|^2 = 0$$

$$|x|^2 (|x| - 5) = 0$$

$$|x|^2 = 0$$

$$\vee |x| - 5 = 0$$

$$|x| = 5$$

$$x = 0$$

$$x = 5$$

$$x = -5$$

$$(2) |x|^3 - 2x^2 - 9|x| + 18 = 0$$

$$|x|^3 - 2|x|^2 - 9|x| + 18 = 0$$

$$|x|^2 (|x| - 2) - 9(|x| - 2) = 0$$

$$(|x| - 2) (|x|^2 - 9) = 0$$

$$|x| - 2 = 0$$

$$|x| = 2$$

$$x = 2$$

$$x = -2$$

$$\vee |x|^2 - 9 = 0$$

$$|x|^2 = 9$$

$$|x| = 3$$

$$x = 3$$

$$x = -3$$

$$\vee |x| = -3$$

Answer

Επίλυση 2ου Βαθμού

$$\alpha x^2 + \beta x + \gamma = 0, \quad \alpha \neq 0$$

τότε $\Delta = \beta^2 - 4\alpha\gamma$

1. Αν $\Delta > 0$ τότε η επίλυση
έχει δύο ρίζες πραγματικές
και άνισες.

$$x_{1,2} = \frac{-\beta \pm \sqrt{\Delta}}{2\alpha}$$

2. Αν $\Delta = 0$ τότε η επίλυση έχει
μία ρίζα. $x = -\frac{\beta}{2\alpha}$.

3. Αν $\Delta < 0$ τότε η επίλυση
είναι αδύνατη στο \mathbb{R} .

$$1. \text{ (r)} \quad 2x^2 - x - 1 = 0 \quad a=2, \beta=-1, \gamma=-1$$

$$\Delta = \beta^2 - 4a\gamma = 1 - 4 \cdot 2 \cdot (-1) = 1 - 8(-1) = 1 + 8 = 9$$

$$X_{1,2} = \frac{-\beta \pm \sqrt{\Delta}}{2a} = \frac{1 \pm \sqrt{9}}{4} \begin{cases} \frac{1+3}{4} = 1 \\ \frac{1-3}{4} = -\frac{1}{2} \end{cases}$$

$$\text{(52)} \quad 3x(2-3x) = 1 \Rightarrow 6x - 9x^2 - 1 = 0 \quad a=-9, \beta=6, \gamma=-1$$

$$\Delta = \beta^2 - 4a\gamma = 36 - 4 \cdot (-9) \cdot (-1) = 36 - 36 = 0$$

$$X = -\frac{\beta}{2a} = -\frac{6}{-18} = +\frac{1}{3}$$

$$\text{(9)} \quad x^2 - 3x + 4 = 0, \quad a=1, \beta=-3, \gamma=4$$

$$\Delta = \beta^2 - 4a\gamma = 9 - 16 = -7 \quad \text{Achtung}$$

2. ① $-3x^2 + 1 = 0$

Losungen $-3x^2 = -1$

$x^2 = \frac{1}{3}$

$x = \pm \frac{\sqrt{3}}{3}$

$x = \pm \sqrt{\frac{1}{3}}$

Losungen

$\Delta = b^2 - 4ac = -4(-3) \cdot 1 = 12$
 $\Delta > 0 \Rightarrow$

$x_{1,2} = \frac{\pm \sqrt{\Delta}}{2a} \Rightarrow x_{1,2} = \frac{\pm \sqrt{12}}{2 \cdot (-3)} \Rightarrow$

⑤ $\frac{x}{4} = \frac{x^2}{2}$

$\Rightarrow x_{1,2} = \frac{\pm 2\sqrt{3}}{-6} \Rightarrow$

$x_1 = \frac{-2\sqrt{3}}{-6} \Rightarrow x_1 = \frac{\sqrt{3}}{3}$

$x_2 = \frac{+2\sqrt{3}}{-6} \Rightarrow x_2 = -\frac{\sqrt{3}}{3}$

~~$\frac{x}{4} = \frac{x^2}{2}$~~ $\Rightarrow x = 2x^2 \Rightarrow -2x^2 + x = 0$

$\Rightarrow x(1-2x) = 0$

$\hookrightarrow x = 0$

$\hookrightarrow 1 - 2x = 0$

$2x = 1$

$x = \frac{1}{2}$



$$3. \textcircled{1} \quad \frac{1}{2}x^2 = x + 2 \Rightarrow \frac{x^2}{2} = x + 2 \Rightarrow x^2 = 2x + 4 \Rightarrow$$

$$\Rightarrow x^2 - 2x - 4 = 0$$

$$\Delta = \beta^2 - 4\alpha\gamma \Rightarrow \Delta = 4 + ~~16~~ \Rightarrow \Delta = 20$$

$$x_{1,2} = \frac{-\beta \pm \sqrt{\Delta}}{2\alpha} \Rightarrow x_{1,2} = \frac{2 \pm \sqrt{20}}{2} = \begin{cases} x_1 = \frac{2 + 2\sqrt{5}}{2} \\ x_2 = \frac{2 - 2\sqrt{5}}{2} \end{cases} \quad \checkmark$$

$$\textcircled{2} \quad x + \frac{3}{x} = 1 \Rightarrow x^2 + 3 = x \Rightarrow x^2 - x + 3 = 0$$

$$\Delta = \beta^2 - 4\alpha\gamma \Rightarrow \Delta = ~~1~~ - 12 \Rightarrow \Delta = -11 \Rightarrow \text{AAYN*TH} \quad \checkmark$$

$$4. \quad (B) \quad (x-1)^2 = 3x(x-2) - 1$$

$$\Delta = b^2 - 4ac$$

$$x^2 - 2x + 1 = 3x^2 - 6x - 1$$

$$\Delta = 16 + 16$$

$$\Delta = 32$$

$$x^2 - 2x + 1 - (3x^2 - 6x - 1) = 0$$

$$x^2 - 2x + 1 - 3x^2 + 6x + 1 = 0$$

$$-2x^2 + 4x + 2 = 0$$

$$x_{1,2} = \frac{-b \pm \sqrt{\Delta}}{2a} = \frac{-4 \pm 4\sqrt{2}}{-4} = \frac{-1 \pm \sqrt{2}}{1 - \sqrt{2}}$$

$$a = -2$$

$$x_1 = \frac{-4 + 4\sqrt{2}}{-4} = 1 + \sqrt{2}$$

$$b = 4$$

$$c = 2$$

$$(C) \quad x^2 - \frac{2x-1}{6} = x - \frac{x^2}{3}$$

$$6x^2 - 2x - 1 = 6x - 2x^2$$

$$6x^2 - 2x + 1 - 6x + 2x^2 = 0$$

$$8x^2 - 8x + 1 = 0$$

$$a = 8$$

$$x_{1,2} = \frac{-b \pm \sqrt{\Delta}}{2a} = \frac{8 \pm 4\sqrt{2}}{16} = \frac{2 \pm \sqrt{2}}{4}$$

$$b = -8$$

$$c = 1$$

$$\Delta = b^2 - 4ac$$

$$\Delta = 64 - 32$$

$$\Delta = 32$$

$$x_1 = \frac{2 + \sqrt{2}}{4}$$

$$x_2 = \frac{2 - \sqrt{2}}{4}$$

Επιπορα Μαθημα

Σελ 181

(1) α β δ ε ζ η

(2) α β δ ε

(3) α β δ ε

(4) α β γ ε ζ ε.